
Esercitazione	
  

Esercizi	
  di	
  preparazione	
  all’esonero	
  



Tipi	
  di	
  esercizi	
  

1.  Domande	
  con	
  risposta	
  a	
  scelta	
  mul7pla:	
  selezionare	
  
tu9e	
  le	
  risposte	
  valide	
  

2.  Esercizi	
  pra7ci	
  
3.  Domande	
  teoriche	
  
	
  
N.B.	
  L’esonero	
  è	
  su	
  tuB	
  gli	
  argomen7	
  tra9a7	
  fino	
  alla	
  
lezione	
  del	
  24	
  marzo	
  



Domanda	
  a	
  scelta	
  mul7pla	
  
Il	
  ritardo	
  di	
  trasmissione	
  
1.  E’	
  il	
  tempo	
  che	
  si	
  impiega	
  a	
  imme6ere	
  tu8	
  i	
  bit	
  di	
  un	
  pacche6o	
  

sul	
  link	
  
2.  E’	
  il	
  tempo	
  che	
  si	
  impiega	
  per	
  far	
  transitare	
  un	
  pacche6o	
  da	
  un	
  

disposi=vo	
  a	
  un	
  altro	
  
3.  Si	
  calcola	
  come	
  (Lunghezza	
  del	
  pacche6o)/rate	
  
4.  Si	
  calcola	
  come	
  (Lunghezza	
  del	
  link)/(velocità	
  di	
  propagazione)	
  
	
  



Domanda	
  a	
  scelta	
  mul7pla	
  
Quale	
  delle	
  seguen=	
  unità	
  da=	
  con=ene	
  un	
  messaggio	
  di	
  livello	
  
applicazione	
  più	
  un	
  header	
  di	
  livello	
  di	
  trasporto?	
  
1.  Frame	
  
2.  Segmento	
  
3.  Messaggio	
  	
  
4.  Datagramma	
  utente	
  
5.  Pacche6o	
  	
  
	
  



Esercizio	
  pra7co	
  

•  Si	
  facciano	
  corrispondere	
  le	
  frasi	
  seguen7	
  a	
  
uno	
  o	
  più	
  livelli	
  della	
  pila	
  di	
  protocolli	
  TCP/IP:	
  

a.  Creare	
  segmen7	
  
b.  Responsabilità	
  della	
  ges7one	
  dei	
  frame	
  fra	
  

nodi	
  adiacen7	
  
c.  Trasformare	
  bit	
  in	
  segnali	
  ele9romagne7ci	
  	
  



Esercizio	
  pra7co	
  
Quali	
  =pi	
  di	
  resource	
  record	
  sono	
  memorizza=	
  in	
  un	
  server	
  DNS	
  
radice?	
  Dare	
  un	
  esempio.	
  

edu	
   com	
   it	
  

ROOT	
  

TLD	
  

[NS, 	
  edu, 	
  a.edu.servers.net.]	
  
[A,	
   	
  a.edu.servers.net.,	
   	
  192.5.6.30]	
  



Esercizio	
  pra7co	
  
In	
  una	
  rete	
  basata	
  sul	
  meccanismo	
  Go-­‐Back-­‐N	
  con	
  m=3,	
  i	
  valori	
  delle	
  variabili	
  sono:	
  
Sf=62,	
  Sn=66	
  e	
  Rn=64.	
  Ipo=zzare	
  che	
  la	
  rete	
  non	
  duplichi	
  e	
  non	
  alteri	
  l’ordine	
  dei	
  
pacche8.	
  
1.  Qual	
  è	
  il	
  numero	
  di	
  sequenza	
  dei	
  pacche8	
  da=	
  in	
  transito?	
  
2.  Qual	
  è	
  il	
  numero	
  di	
  riscontro	
  dei	
  pacche8	
  ACK	
  in	
  transito?	
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1.  Se	
  il	
  des7natario	
  si	
  aspe9a	
  un	
  pacche9o	
  con	
  numero	
  di	
  sequenza	
  64	
  e	
  i	
  paccheB	
  con	
  
numeri	
  di	
  sequenza	
  62	
  e	
  65	
  sono	
  già	
  sta7	
  spedi7	
  ma	
  non	
  ancora	
  riscontra7,	
  significa	
  che	
  
i	
  due	
  paccheB	
  con	
  numeri	
  di	
  sequenza	
  64	
  e	
  65	
  sono	
  in	
  transito	
  dal	
  mi9ente	
  al	
  
des7natario.	
  

2.  Se	
  il	
  mi9ente	
  aspe9a	
  un	
  riscontro	
  per	
  il	
  pacche9o	
  62,	
  ma	
  il	
  valore	
  Rn	
  =	
  64,	
  significa	
  che	
  
i	
  paccheB	
  ACK	
  con	
  numeri	
  di	
  riscontro	
  62	
  e	
  63	
  sono	
  in	
  transito	
  dal	
  des7natario	
  al	
  
mi9ente.	
  



Esercizio	
  pra7co	
  

•  Usando	
  numeri	
  di	
  sequenza	
  a	
  5	
  bit,	
  qual	
  è	
  la	
  
dimensione	
  massima	
  delle	
  finestre	
  di	
  invio	
  e	
  
ricezione	
  per	
  ciascuno	
  dei	
  meccanismi	
  
seguen7?	
  

1.  Stop-­‐and-­‐Wait	
  
2.  Go-­‐Back-­‐N	
  
3.  Selec7ve-­‐Repeat	
  



Esercizio	
  pra7co	
  
Due	
  host,	
  A	
  e	
  B,	
  stanno	
  comunicando	
  su	
  una	
  connessione	
  TCP.	
  B	
  ha	
  corre6amente	
  ricevuto	
  e	
  
riscontrato	
  tu8	
  i	
  byte	
  fino	
  al	
  104.	
  
A	
  invia	
  4	
  segmen=	
  uno	
  dietro	
  l’altro	
  a	
  B.	
  I	
  segmen=	
  contengono	
  50	
  byte	
  ciascuno.	
  
1.  Quali	
  sono	
  i	
  numeri	
  di	
  sequenza	
  dei	
  4	
  segmen=?	
  
2.  Supponendo	
  che	
  il	
  terzo	
  segmento	
  venga	
  perso,	
  come	
  si	
  comporta	
  B	
  alla	
  ricezione	
  di	
  

ciascun	
  segmento?	
  
3.  Dopo	
  un	
  lasso	
  di	
  tempo	
  scade	
  il	
  =mer	
  di	
  ritrasmissione	
  e	
  A	
  invia	
  nuovamente	
  il	
  terzo	
  

segmento	
  che	
  arriva	
  corre6amente	
  a	
  des=nazione.	
  Come	
  si	
  comporta	
  B	
  alla	
  ricezione	
  di	
  
tale	
  segmento?	
  

A	
   B	
  
105	
  
155	
  
205	
  
255	
  

Ack	
  pos7cipato	
  
Ack	
  immediato	
  (ACK	
  205)	
  

Fuori	
  sequenza	
  (ACK	
  205)	
  
205	
  

ACK	
  305	
  
Timer	
  



Esercizio	
  pra7co	
  

•  In	
  un	
  certo	
  istante	
  il	
  valore	
  del	
  RTTs	
  è	
  uguale	
  a	
  14ms,	
  
mentre	
  il	
  valore	
  di	
  α	
  è	
  0,2.	
  Calcolare	
  il	
  nuovo	
  RTTs	
  
dopo	
  gli	
  even7	
  seguen7	
  (i	
  tempi	
  sono	
  rela7vi	
  
all’evento	
  1)	
  

1.  :	
  0ms	
   	
  spedito	
  segmento	
  1	
  
2.  :	
  06ms 	
  spedito	
  segmento	
  2	
  
3.  :	
  16ms 	
  7meout	
  segmento	
  1,	
  rispedito	
  
4.  :	
  21ms 	
  ack	
  segmento	
  1	
  
5.  :	
  23ms 	
  ack	
  segmento	
  2	
  



Esercizio	
  teorico	
  

•  Si	
  vuole	
  aggiungere	
  un	
  nuovo	
  protocollo	
  nel	
  
livello	
  applicazione:	
  quali	
  modifiche	
  è	
  
necessario	
  apportare	
  agli	
  altri	
  livelli?	
  
(mo7vare	
  la	
  risposta)	
  



Esercizio	
  teorico	
  

•  Un	
  FTP	
  deve	
  prelevare	
  un	
  file	
  dal	
  server	
  e	
  
depositarvi	
  un	
  altro	
  file:	
  quante	
  connessioni	
  di	
  
controllo	
  e	
  quante	
  connessioni	
  da7	
  sono	
  
necessarie?	
  



Esercizio	
  teorico	
  

•  E’	
  possibile	
  per	
  un	
  server	
  FTP	
  o9enere	
  
l’elenco	
  dei	
  file	
  e	
  directory	
  dal	
  client?	
  



Esercizio	
  teorico	
  
Si	
  descriva	
  il	
  funzionamento	
  del	
  protocollo	
  HTTP:	
  	
  
•  In	
  quale	
  strato	
  di	
  livello	
  di	
  rete	
  è	
  implementato	
  	
  
•  Qual	
  è	
  il	
  suo	
  scopo	
  e	
  quali	
  protocolli	
  usa	
  	
  
•  Come	
  funziona	
  in	
  de6aglio	
  il	
  protocollo	
  	
  
•  Qual	
  è	
  il	
  formato	
  dei	
  messaggi	
  scambia=	
  	
  
•  Quale	
  meccanismo	
  viene	
  u=lizzato	
  per	
  migliorare	
  le	
  

prestazioni	
  del	
  protocollo	
  	
  


